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823t 100 pbrtuhurft hrucnl.urn uu nnurrl I 58000 I 158.000
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s3*{}*{}* l"ltruteriifuh* ?5*"S{}{]
8311150 l-lnt-qruqnr-ln.ltu u'u qnllq 4000 t4 56.00r1
83ili60 Qnr.ruu,r utJ qnLtcl 1000 JI 3 i.000

1tt3#**{it} f lii*llrdfuh* B7,SSS

18421 190 ').hpLuuurhhhpI rupmiuhuqnrurnhhpp upuhhprr (ihlunl)

:unqh!trtrn
UU hurur I 800 )L 57,600

845 300 (rn6r.uh rltl Iturur 300 80 24.000
845 _100 l.h4uruh4 uu mmrh 500 3,000
ii45 400 tl-hqhl) IT] T dhmn 250 26 6.500
{i45 400 ntaur huro.nrurnh IJIJ rlhrnn r300 10 13.000
845 400 futururrlhh uu dtimn 500 120 60.t)00
{i451400 Shuriur UU tihrnn t000 lti0 180.000



I

1842000{) (uqnr-uurh tllunt"uqluhtrLn u'u murd 50000 50.000
1S4*S{}SS *ltnurrtiitln 394"1S0
1B8t I 190 lurbrugb hnrht uu qnllq r2000 6 72.000
1881 1 190 nnudurpnnr- Ln:hL ttu qnLlq 10000 o 60.000
1881 1200 Juupq uu qnltq. 20t)0 40 80.000
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188.1l 160 Lnrhhhhn UU onil(r 5000 1'7 85.000
r 88S00*s Ilbnru$til,tn I' 3S5"0BS
19210000 tr!4npltin (qnndilurbp&Ln) Lr-u nnurf 715000 715.000
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1964 000 lbLrUhqhmh uJuntl u'u hrurn 2000 7 14,000
1e64 00u rln$hpfrghLulhtu pu:trutup uu rlt:urp 300 5 1,500
1S6*S$S0 lilatudkhn v X 168.SSS
2491 1300 Llnuhhh t,urhnhrn TTI.J hunn 1600 8 1?.800
2491 300 Llnuhtid hurnnuhn IIIJ huur 1340 1.340
2491129A hlnr-tuhur IN.I hurur 5000 7 35.000
2495 30 i.Ihthhntr {,ru hunn 1500 6 9.000

1 130 Jhhhn&h &nn $u hurn t00 20 2.000
2491 1600 Jnuhhd rhx{h UU hruln 2200 1a 37-400
2491 1600 [Inuh8h pnrqp Lru rlhrnn r000 5 5,000
2491 1300 ibnnrh ruLuurth tru Uq 1000 10 10.000
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3A?J7460 Uurtnhurrurn tlu hurur 4500 5 22.500
30237411 LrubhL I rlu lrurur 2500 5 12,500
30?37411 ulltuhh 2 u'u hrurn 8000 2 16.00{)
30234670 USB hhrnnntprnrtu /1 6GB/ UU hunn 12000 I r2,000
302371r3 9nht\unp UU hurtn 100 50 5,000
302371 l3 9nbhbrnnn ttu hurtn 100 50 5.000
30234400 DVD-R l-16x uu hunn r00 50 5-000
30234400 DVD-RW 1-16x uu huln 100 50 5.000
30234300 lD-R 52x rru huur 100 50 5,000
30234300 ID-RW52x t_r'L.l huru 100 50 5"000
30237 I I I Uulnuj I ruurullh rlu:nrnlna UU huru 300 l0 3.000
3{J237t12 Ulntgriurtr tu{plnrp u'u htuu 12000 3 36,000
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32420000 u{hr 1 tIu hurur 8000 I 8.000
3?43SSt)0 Illtnr*rihhlr 81,$s0
3 I 1 70000 Or{uurbt nu{hi uu hurur 6000 l 6,000
31 1 70000 OnluLu!bpug1 UIJ hurm 1000 t 1.000
"]1140000 (nrlhrun /cooleri I uu hrum 900 b 5.400



3 t 140000 (ndhrun /cooler,' 2 uu huur 1500 4 6.000

31151r20 U]"rfu uriruU uLnlqdu{r unHn$h dunUng UU hurur 9000 5 45,000

311511?0 UtuluLutfrutr uLnr-gdtub unptn4 (UPS) uu hurtn 40000 I 40.000

31:$SS*S {ltrqrudlilin 1S3,40S

3 1410000 Uurnurbno AAA uu hurm 3500 t8 63.000

31410000 llmnurbno AA UU hurur 1260 2 2.520
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3 t410000 [Iurnurbno I) U'TJ hurur 2130 3 6.390

3 14i0000 llurnrnhno UU hruur t440 I 1.440

3 1410000 Llurnrnhnrl U'LI hurur 3500 3.500

3 1410000 u'u hurur 2750 t0 27.500

3 1410000 [-Iuurubnq u'u hi,urn 5300 5.300

314CI**$S flltrl*.:*khp J! X 126"150

31521 170 ururmlin UU hruur 2000 2,000

31531201 -ullur UU hurur 5.50 l0 5.500

ttt ilh*tx:lhhn X "\4. ?.5S0
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312312&1 lftglrurlhkn 35,{S0
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3 I 630000 Llurohhu u'u hum 40 8 320
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34*CIo$Sfi *}nulililrn x x 953.t0S
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39221460 .[n&htr uu hutur 1?00 9 10.80t)
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39224430 I.fnrl Lru hurrn 200 100 20,000
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39240000 bnrqurtrh nultrurb UU hunn 1500 2 3.000
39241 I 00 'lurtrutr rtu hrurn 550 z 1.100
3924 0l lurtruL qhruuurLunun[h UU huln 2350 9.400
39?4 0t :lurtrurL ru ururnur$nh UU lnum 150 150
3924 t0l :l.ur[rurt uururnurulh 2 uu huln 700 1 700
39?4 210 Llhnrum rnurnntin *urhuhnh u'u huur 7000 2 14.000
3922 424 Iunaruliurl"r tl'tI hruur li00 n 6,000
3922 4XA h.rncrulnult u'u brurn 5000 2 10.0t)0
3922 30 fltudurL hrnrrr*h u'u ].turn +3t) 1 43{}
3922 2A rutuuD /uurdurL. (rn|.ur/ Lru hrur.lrup. 5000 I 5.000
3922 2',74 aluu UU hrurn 780 780
39'*S${}S {l}ar*iIhf:n \r 1?6.985
395 I l0 ilbrtnihh dutbnq, IJrhnnq {flJ hrum 7150 7.1 50
395 I 00 Jnnhr I U"LI hurur 590 590
395 i 00 Jnuhs 2 uu hunn 1700 I.700
39541 I l0 \runurtr nu rlt un 200 200 40.000
3954t 1 i0 lurnu[r pturlnruhtru ttu rlhrnn 300 50 15.000
i9511190 lurn& tlu hurur 3000 2 6^000
395*$*$$ llinurrllihn A ?0.440
397 r 343 l Dnrlilln r.rh ururnl Lin tnr hurur 2000 3$ 60.000

397152s0 Ithbrnnurburh mlupurqnl.oht 1ru hurur 8600 I 17,200

3971123$ fltirhhl: u'u hrum 12500 2 25.000
39711224 Lr tib urnruh urh un{ili*r UU hunn ?350 4L 4.700
39',t11224 htinnrumuqrrr"l(h radurrhl uurnp UU hrurn 9800 9.800
39714144 cnnnurl.lh! u'u hurm 12000 r2.000
397 I i 330 ]huilnr.ln quutur{:ulturbtr III I hurur 190 950
39717100 hhhrnnruhurh hnrlhurn $u hurn r r000 11.00n
39?S*S00 tlirntrt.*hhn ,Y

t40.650
:iq31 I 30il 3nn purnrlliq[.r r1n dhend llvl*lodier' UU huln 6t)00 2t) 1:i}.000
;1931 I 300 JBlr rarunrl'lrq rri q hi ttu hurur 5000 tl 55,000

39{r3 r2{il .fhllnni|lhrrnur {tu hrum 650 t5 q 7{o

39{r:i 12{t I tluturbh rlurnnlirnr xn u'u nriln 550 It) 5.500
39tti li3 luuru:fu dunnbrnu rnn u'u hrurn 950 25 ?J.?50
:i983 83 irnthnhbhnq lLtrnrh LlruBnnl lrlpnr-rl I}IJ burur I 350 6 8.10n
398:] 83 {fu:rrnhnu rnn ti'u hrurn t0{r0 4 4.i)0il
39Sl s^3 (Lurn u hn ilrutn Ll nr irln IIII hr.r-trn It)00 9 9.000
398:l s3 {rumtubl liuunt't nr.. .1 nn TTIT hturn l20tl I 7 ?00
3983 83 U'nuh uulbr III T bu:rn l8:(0 2 t,700
398i 283 lfnu lrututurbh Lru lrunn :100 2 t00
398 1 283 [Inur LII-I hurrn 3800 I -'t,800
398:t 2ii.3 tJ'nuh uurhnruur Lru rlUIUI l5 50 L\) 31.000
3983 zo -) lJ'nruh ururirnrum XXL {.r[J hruur I.160 I 1,4(r0
198i 28:3 U'nruh aturhnrurnh ratirhbhl:n ut"l hunn 1250 j 1,750

-?933 240 [ILunnnn rlhoncrh[in ITTI hultn 3500 l0 ?5.000
198-l 242 .-drucph lhnrh,/l 5fucr,' TII T uunl-r r6500 ,| 1 000
398_-; 742 Lrlruqph rhn:h TJ LI []urn 10000 3 3tl-000
398.1 243 lu,whrn urtitnrhh ITII Irurn 190 1 380
3983 r:47 llhr*ruhtulrnn hturmL hLuanruurh/..lurfulrr/ Lr{.1 Ituln ?800 4 r 200
398:i 247 |.Ihr.uur]rLulrnn hlrrmLr hruunruurh/.{urfuhr/ ITII hrur.n t2l0 ) 2,421)
398:] 48 lJnnurdurll IIIT nluiil t50t) 2 3.000
398-l 247 IhtuturhLutrnn htinmfu 'IIT ntutn 1250 .i0 3?"500
398.1 247 (tinnrl tuqubnLultinh r tti I I .2ttq-l $u hrxm 750 3.750
39839300 {nqiutahrult {J"U hurn I 800 3 5.400
-19839300 :l.nqrutahurlt tiu nulul 250 {: 1.50{)
3983 t2?i) Jrunrircl $tJ luurn 200 20 +.000
-?98"1 z?fi Lunrfuu ru hurn .18(l li 3.tt40
398J t2?0 I'lu:itulunr:lrulr urh uu hu.lrrt l.t$() L38{)
,?983 t2?fl .]ulnrhc: Uu hurrr 39-s(l 9 35.550
3983127A Urunrhg 2url UU hunn 3200 8 25.600
3S8J t2?0 lJu;nriicl ?url Lru hrnrr ?50() 2.500



398_l t2?0 Jrunrirq 3utl U'IJ hru.m 36$0 J 3.6{Xl

3S83 1 240 llnurourbh hLnnrL Lru rhrnn 2000 20 40.000
398i I 245 lbnnt L odutn /ntrnhruLnr n oornruonnbirfurh &hnoh IJ'11 hrurn 6000 20 r20.000

3983 r276 2nr.qurpru[uu\nh12 rlrupp*11 $hgngttlip tTIJ i:urut : ?0$ 80 96,000

39836000 ItlLr U'LI hrum 100$ 12 t2.000
t9836000 iltiiir anounhurfunrl u'u hurn 3500 A 14.000

39n35000 ,.buunh lrnn ttu hruLn 1200 20 24"000

39831?40 FhrltuLrult bnllu uu hurm 6500 5 32.500

3933 1280 Llnhhumn rlurBnnn rihpnq uu hurrn 1200 10 12,000

39SS*{}** fl*:rru:lh{r* 868"23S

121-l 1490 lihSrnlt 'TII huur I 560 t i-56{i

4295 1400 Unrn6h qulhi uu hurur 2500 2 5,000

42991420 ?nht TITJ hurur 1 500 2 3,000

4?951400 ?rnhl urnrllnuru uu hu.nn 1 000 38 38.000

42$SS{}S6 ll*a*:fh*:r JL Jl' 47,560
44 1420 lnr-ruu 750rlr tlu hurm 3600 20 7Z-000

44 L42A lnrurr UU hurrn 1000 5 5.000

44 1439 c'tint I UU hu.nn 950 I 950
44 1439 ubnb hrbhri uu hruu 5r00 I 5.100
+t l4 0 UhnL urtnhr uu huur 5000 6 30.000
44 l4 0 uhnb 2 UU bs I 500 2 3.000
44 0 uhnb rhlnr]h UU huur 1?00 I 1.700

44 It 0 ubnb uh- uu hunn I 2000 z 24.000
44 t4 0 ihnb uh 2 UU hruur 8200 I 8.200
44 9100 Lrnnurlmrrh-rtntutr 3 rlrl uu hrurn 4500 13 58.500
441 19100 lrnr:unnuhurnurh 6rItI uu hu:ur 6000 A 24.000
44 9100 Lnuurmrulumuh l2ilrl ttu huur 8500 10 8s.000
44 9100 lrnuurururfumutr 4rftl UU hurur 4800 8 38.400
44 9100 Lnuulnuluururtr 10drl UU hunn 7500 6 45.000
44 9000 Surlurnuh uu rlhrnn 7000 J 21.000
44 9100 Ournnh innunl UU qinl 300 650 t95.000
44 273{) hurnnn uhrurlurnub llhururnh hunhun UU hurur r 000 5.000
44 2200 QuuI {JU mnr.rh 2000 5 10.000
44 910t) Orurutur Llnn ttu qbf 500 40 20.000
44 92700 t'hnLu(l|urhhtr uu hruu I 850 I 3.700
44 92610 ribfu UtI hq I 000 4,000

44 63180 tunnwtumh lunrrntluh UU ti 900 150 135.000

44 $${i{}s fihrr*rr{iitr ?s4"55S
4431 I 180 U[rruo UU tro 7000 l4-000
4431r180 )nnrfruh rannr uu huln 800 20 16.000

44311250 l]lu{rh /urhmrh/ IJ'TI huru 800 14 1.200
44311240 Lhuhnu.rb urntrhrnh UU hwrn 0

44311241 Lhrutruh [ibnnhnnrl t_nI huln 7500 7.500
44311241 Lhurturh 2 ltu hruur 1250 1.250
44311241 Lhurturh 3 u'u hrurn 1600 1.600

443 l 0400 lfbrnwnuornonr.rl /runnShr. r.Ihrn. rurn. duuurilhb/ tru fhrnn 900 150 135,000

44300000 Ururntlu UIJ rnntdr 36000 I 36,000
4430$*0* tlfun*rrllr*ri Y JI .x 222,358
444236{JA f}nnh uhni U'L] hruur 400 20 8.000
44423600 Uhni UU huru 600 -t 1.800

444?3404 3nr-qruliurlr UU hrum l 5000 8 120,000

44423200 luurhdulr /nurqdnn/ {tu hutn l 3350 I 13.350

444S*$$0 lltnu*hf:a A t43.l5S
445 I 1 330 [f uprnLnqurthtr ru mnluurhuhrul utI hruur 50000 50,000

445 I 1330 Qlinph tr. urnhrurhn tiu hrum 40000 I 40,000

445 1 t 330 llmp pruti4urQruqnpbl"r rntr urnn|l 10000 I 10,000

4451 13.r0 lnnbhptrhn uu huln 5000 6 30.000

44511340 Iur3{r!n!! hu{urpru0nr- uu hurur 52()0 s,200
44511340 lunhbnt 2 UU hurur I 550 2 3,1 00
4452r230 .JrnhrurhDh rlhqnLLl uu rnnuh 500 1 3,500
4451 I 1 l0 --urhh uru rru hu*n 900 900
4451 1 I r0 "Ihuqfutr lunnn{uh IIIJ hurrn 1200 1.200



4451 I 130 bnutr /uh nnruruhurh/ Lru hurn 1400 1.400

4453 1 1 80
Lrulh\, hhrgmu, tqrnnr-rnu\, mul{ro4url1 rnrupptip
rur*rbnh uu rlpurU 31000 I 31,000

4451|2gA }tr4hurlfi hurdrupurOm r.Iu hrurn I150 I 1.150

44511290 Fnhul1 u'u hrurn 4000 I 4,000

44_s l 1200 unpg UU hurrn 2500 I 2,500

44511244 Urlng 2 $u hrurn 850 I 850

44_s3l l80 Unrlhru\ U'L{ huln 600 4 2,404

445*S*{}S {llnr*rlkhn 18?.?S0
4483 1 500 Lmbhi uu huln r 500 7 10,500
4483 r 600 [JqbmnL u'u hurrn I 800 9 16.200

4481 1900
-thquprlhumrut1ub dlru{npd'urlr /4blnpugfrru3iti
irnrrahn/ nhUrlhqhul UU hurur 200000 I 200,000

4.48S$*$* {lltnlltdtrhn 226.?0$
l?:.14i il{i lfruuhnuihrnir llti l'luir-n ?0il0{.} l4#.r)00
:i:i,ril t 0 Ilrurrilnarfunu l tJ'i,i liuiur ?50{}ri ') i 5{i.00$
:-i4tt tf i:lrunil*urhinu 3 i fii hurm "1500r) $u.0{}0
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